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SHAEE SHSEE
hEE% HEERAE R B E ST BIEMB(uSv/h) | e e A% B BIEMBE(uSv/h) | £iErpmms a1 B
50cm im (¢ Sv/h) wE 50cm im (¢ Sv/h) wIE
1 | —BET &AL NHEMEER |1 =EET 0.038 | 0.034 0.02 | R4.10.6| 0.045]| 0.039 0.03 | R5.10.4
2 (NligmRE 42— NHEFEER | 1 ZEEET 0.053 | 0.050 0.04 | R4.106| 0055| 0.055 0.05 | R5.10.4
3 |[RIEENLE NES 1 RER R 0.044 | 0.047 R4.10.7( 0043| 0.046 R5.9.29
4 | RIRAINAR NES 1 R 0.047 | 0.052 R4.10.7 [ 0043 | 0.040 R5.9.29
|1 i 0.070 | 0.068 0.073 | 0.070
HEETHE 42— BEAERHR m_g*ﬁm_ 0.06 | R4.10.6 0.06 | R5.10.4
2 1B 0.062 | 0.076 0.080 | 0.078
. . . _|1 ] 0.067 | 0.065 0.057 | 0.057
ENZEASEE BEAERFHR m_g*ﬁm_ 0.06 | R4.10.7 0.05 | R5.9.29
3 1B 0.082 | 0.088 0.083 | 0.079
|1 i 0.049 | 0.045 0.045 | 0.048
SHLTEER AN RER BIAERMT if*ﬁm_ 0.04 | R4.10.7 0.04 [ R5.9.29
2 1B 0.071 | 0.065 0.057 | 0.044
|1 i 0.053 | 0.058 0.048 | 0.047
SHLERE A RER BAES if*ﬁm_ 0.05 | R4.10.7 0.04 | R5.9.29
3 1BERERT 0.085 | 0.073 0.073 | 0.061
|1 A 0.063 | 0.061 0.062 | 0.056
KIELAREE BARESH if*ﬁm_ 0.05 | R4.10.7 0.05 | R5.9.29
2 1B 0.062 | 0.061 0.082 | 0.073
T _|1 =01 0.058 | 0.048 0.051 0.041
= RHEE 2— BEAERFHR m_g*ﬁﬁ”_ 0.04 | R4.10.7 0.03 | R5.9.29
3 1B 0.071 | 0.061 0.066 | 0.066
|1 #i 0.055 | 0.048 0.045 | 0.049
WFHRAREE BIAERM if*ﬁm_ 0.04 | R4.10.7 0.04 | R5.9.27
3 1B 0.070 | 0.063 0.052 | 0.047
. . |1 B 0.062 | 0075 0.064 | 0.059
HRAREE BARESH if*ﬁm_ 0.07 | R4.10.7 0.05 | R5.9.29
3 1BERERT 0.111 | 0.096 0.098 | 0.093
|1 i 0.066 | 0.065 0.070 | 0.058
BHHEEZ— BIAE R ifﬁﬁj_ 0.06 | R4.10.7 0.05 [ R5.9.29
2 1B 0.064 | 0.050 0.045 | 0.050
|1 #i 0.085| 0.086 0.091 0.080
AARAREE BIAE R if*ﬁm_ 0.08 | R4.10.7 0.07 | R5.9.29
3 1BERERT 0.123 | 0.113 0.100 | 0.101
. . _ |1 B 0.059 | 0.051 0.065 | 0.059
RIRAREE BARESH ifﬁﬁj_ 0.04 | R4.10.7 0.05 | R5.9.29
3 1B 0.067 | 0.064 0.080 | 0.067
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SHAEE SHSEE
No. sk iRl B E SRR BIEME(uSv/h) | 4iEmEe A% B BIEME(uSv/h) | 4iEpme a1 B HX
50cm im (¢ Sv/h) wE 50cm im (¢ Sv/h) HIE
16 [JIGEFFIEE2— AR |1 ZEET 0.048 | 0.048 0.04 | R4.106| 0.043| 0.049 0.04 | R5.10.4 Fe %
. .. | 1 EBERERT (R4 UORKRYE) 0.037 | 0.036 0.039 [ 0.041
17 [ IBPRUE /AR NHEEER ——— - R4.10.6 R5.10.4 5
= * 2 mBREF (G2 0.054 | 0058 0.043 | 0.043 P
1 g 0.079 | 0.070 0072 | 0.077
18 | BB LU LR TR 35 ~E — 0.07 | R4.10.6 0.06 | R5.10.4 2
2 1BERERT 0.047 | 0052 0.056 | 0.049 L
19 Al DA E N 1 1BEREFR 0.055 | 0.046 R4.106 | 0037 | 0056 R5.10.4 P 5
. 1 #EEEE 0.047 | 0.047 0.042 | 0.032
20 |f{k R &8 R YNE] *Ef' = 0.04 | R4.10.6 0.03 | R5.10.4 P
2 1B 0.060 | 0.047 0.050 | 0.053
21 |1$kFENE NE 1 RER R 0.045 [ 0.051 R4.106 || 0088 | 0078 R5.10.4 Fe I
. __| 1 =BEgI 0.062 | 0.056 0.056 | 0.058
2| FFEBASE BAESAT ———— 0.05 | R4.10.6 0.05 | R5.10.4 2
o= SO PYT T T 0056 | 0066 0063 | 0062 P
1 ZBIAT 0.057 | 0.056 0.049 | 0.049
23| EHAREE BEA%ESFR — 0.05 | R4.10.6 0.04 | R5.10.4 2
SRS R 0070 | 0065 0061 | 0055 L
. 1 /i 0.062 | 0.061 0.072 | 0.069
24| EFHEEL 53— BAKRM zfﬁm_ 0.05 | R4.10.6 0.06 | R5.10.4 | P
3 1BERERT 0.091 [ 0.100 0.094 | 0.092
__| 1 =BEgI 0.070 | 0.064 0.069 | 0.063
25| BEHIAREE BAKRM — 0.05 | R4.10.6 0.05 | R5.10.4 5
SO PYT T T 0.105| 0085 0.064 | 0061 P




